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QUESTION 1

Refer to the exhibit. 

Why would the switch be considered as a root bridge? 

A. The bridge priority is 1 and all ports are forwarding. 

B. The switch priority for VLAN 1 and the macro specifies "This Bridge is the root". 

C. The bridge priority is 128.19 and all ports are forwarding. 

D. The switch priority value is zero, it has the lowest priority value for VLAN 1. 

Correct Answer: D 

 

 

QUESTION 2

A network engineer wants to add a new switch to an existing switch stack. Which configuration must be added to the
new switch before it can be added to the switch stack? 

A. No configuration must be added. 
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B. stack ID 

C. IP address 

D. VLAN information 

E. VTP information 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 

A network engineer wants to analyze all incoming and outgoing packets for an interface that is connected to an access
switch. Which three items must be configured to mirror traffic to a packet sniffer that is connected to the distribution
switch? (Choose three.) 

A. A monitor session on the distribution switch with a physical interface as the source and the remote SPAN VLAN as
the destination 

B. A remote SPAN VLAN on the distribution and access layer switch 

C. A monitor session on the access switch with a physical interface source and the remote SPAN VLAN as the
destination 

D. A monitor session on the distribution switch with a remote SPAN VLAN as the source and physical interface as the
destination 

E. A monitor session on the access switch with a remote SPAN VLAN source and the physical interface as the
destination 

F. A monitor session on the distribution switch with a physical interface as the source and a physical interface as the
destination 

Correct Answer: BCD 
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QUESTION 4

Which VTP mode is needed to configure an extended VLAN, when a switch is configured to use VTP versions 1 or 2? 

A. transparent 

B. client 

C. server 

D. Extended VLANs are only supported in version 3 and not in versions 1 or 2. 

Correct Answer: D 

 

QUESTION 5

You have been asked to install and configure a new switch in a customer network. Use the console access to the
existing and new switches to configure and verify correct device configuration. 
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You are connecting the New_Switch to the LAN topology; the switch has been partially configured and you need to
complete the rest of configuration to enable PC1 communication with PC2. Which of the configuration is correct? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: D 
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Within any VTP, the VTP domain name must match. So, step one is to find the correct VTP name on the other switches.
Logging in to SW1 and using the "show vtp status" command we see this: 

So we know that the VTP domain must be CCNP. This leaves only choice D and E. We also see from the topology
diagram that eth 0/0 of the new switch connects to a PC in VLNA 100, so we know that this port must be an access port
in VLAN 100, leaving only choice D as correct. Note that the VTP versions supported in this network are 1, 2, 3 so either
VTP version 2 or 3 can be configured on the new switch. 
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